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Note :This paper contains Seventy five (75) multiple-choice, assertion/reasoning/
matching questions. Each question carrying TWO (2) marks. Attempt All
the questions.
A9 B wsel daidr (ou) sgfsella usdl, Wyl wA Ass vsadidl uaHl
B, M Nl g dquiairil 9. udls Wl 4 () g S,

1. Intelecommunications, & .....c.ccoereee... 1. §2 Wyt L. 1244
network is one that establishes a GudLsdlai-l Ml wBFw usal
dedicated channel between nodes 2Brd 1A 1S @A s 11l A

i th . -

and terminals before the users may 2ulid 53 8
communicate.

L (A) usle ftllor
(A) . Circuit switching '

2

(B) Packet switching B) g2
(C) Message switching (©) WAy Al
(D) Store and forward switching (D) WIR s s1ras {|a
Identify the research techniques 2. (™ 48 43lddl AdgsUuiaii-L

that would be best for a study to
compare the themes of best selling
novels with those that did not sell

well :

(A) Library surveys

(B) Comparative librarianship
(C) Case study

(D) Content analysis
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(B) dé-ls AwdRa
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3. Index translationum is a world 3. ‘038 2tudu-y’ A @Qsani ........

bibliography of translations of : Al vl a6,
(A) Periodical articles - (A) wuls avil

(B) Books (B) 3l

(C) Books and Periodical articles (C) el A wHAs Avil
(D) Patents | D) Ase (Ver2n)

4. In MARC format record, ‘directory’ 4. 1§ gi¥2 3s18ui ‘(335231

..........

functions as : 4} s 5 8.

(A) Leader providing information

(A) 35Sl wBw w2 %33 el

necessary for processing the

Y3 wisg dis?

record

(B) Sal urladl S (3es
(B) Data fields containing data

(C) Index to the location of (€©) Awud doudu (Besq 2t
variable length fields edladl HZall

(D) Subfield code and delimiter D) woilBes, “’1_5 2w ez
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Identify the cannon that leads to
changes in the rules of a catalogue

code :

(A) Canon of prepotence

(B) Canon of sought heading
(C) Canon of context

(D) Canon of Ascertainability

For the first time in 1923, E.W.
Hulme used the term :

(A) Bibliometrics

(B) Librametry

(C) Scientometrics

(D) Statistical Bibliography

Identify the library that provides

the facilities for IFLA’s
headquarters :
(A) The Royal Library, the

national library of Denmark
(B) British Library

(C) The Royal Library, the national
library of Netherlands

(D) The Royal Library of Belgium
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YRS Rl wRadHin 130

53l GUYAY BN :
(A) Nul3dd Guyat

(B) wifldl Hauous Guyst
() yalur 2siud Guya
(D) Radid Guyst

U3 ML .50y, 86 UYH quid
......... el Guuiot syl edl.

(A) BrodliNd sy

(B) [asundl

(C) wu-didlsn

(D) w&Résa Bodlamiusl

Ssditt Yoy nusq YR@w Yl
YISl ALY O :

A) 4 44 asd, ¢ dund
atdal s Ss

B) Béla asal

(C) u Vivd alsel, 4 dud
Al wis AuA-5Y

(D) 4 ud AdA] s Aewun
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8. Dublin core metadata elements
related mainly to the instantiation

of the resources are :

{A) Creator, Publisher,

Contributor, Rights
(B) Date, Type, Format, Identifier

(C) Format, Identifier, ISBN,

Relation

(D) Date, Format, Identifier,

Coverage

9. The mathematical theory of

communication is concerned with :

(A) Semantic contents of a

message

(B) Transmission of symbols

representing in a message
(C) Specific effect of a process

(D) Structure of the world or static
relations between physical
objects
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10. Assertion (A) : According to IFLA,

11.

libraries must support freedom of
access to information, and reject

censorship.

Reason (R) : Because libraries have

unlimited information.
(A) Both (A} and (R) are true
(B) (A) is true but (R) is false

(C) Both (A) and (R) are _false

(D) (A) is false but (R) is true

Identify the state which has yet to

pass Public Library Act :
(A) Odisha

(B) Lakshadweep.

(C) Himachal Pradesh

(D) Chhattisgarh
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(A) (A) 21 (R) 61 W 8

(B) (A) w3 B Wig (R) Wig &
(C) (A) A (R) 6l w2l 8

D (A) Wi B vig (R) wd D
AFaul o wdwlHs Awau wRl
YR 5341 AAUA v :

A) RR

(B) «alav

() [RBuua usa

D) odlude
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12. Biological Abstracts is now produced
by :

(A) Elsevier
(B) Wiley Blackwell
(C) Springer
(D) Thomson Reuters

13. Match the following in the context

of information cycle :
() Instantaneously

(ii) Same day

(iii) Next day

(iv) Following week

(a) Newspapers

(6) Popular Magazines
(c) Main stream media
(d) Social networking

(A) (@)a), E)HD), (it o), (iv)d)

(B) ()a), (i) c), Gii)Ha), (iv)«b)

(©) ()~@), i), GiirLe), (iw)—b)

@) @), GAd), (il a), (iv)b)
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14. Assertion (A) : Questionnaire are

15.

often used in surveys as the primary

data collection instruments.

Reason (R) : Because questionnaires
prevent personal contact with

respondents.

Codes :

(A) (A) is true but (R) is false
(B) (A) is false but (R) is true
(C) Both (A) and (R) are false
(D) Both (A) and (R) are true

Information ..............ccocnneeee is
something received or obtained

through informing facts or figures.
(A) (the channel, not the content)

(B) (the concept, not the

characteristics)
(C) (the message, not the act)

(D) (the act, not the message)
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(A) (A) WY B wig (R) Wé 8
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16.

17.

Identify the statement that is not
true about ISDN :

(A) ISDN
transmission of voice only

ISDN
transmission

ISDN
simultaneous voice, video, and
text transmission

is not limited to

(B) is purely digital

() can provide

(D) ISDN is simply a point-to-point

solution like a leased line

Match the following and select the

correct answer from the codes given
below :

()
(i) Chemical Abstracts

Library literature

(iti) Census of India

(iv) Emerald

(@) Full text database

(6) Numerical database

(¢) Bibliographical database
(d) Subject oriented database
Codes :

@ @ @G v
(A) @ @ b (a)
B} d @ © &)
C @ & © (@
M @ @ b @©
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18.

19.

20.

Which of the following is not true

about informal communication ?

(A) It is unscheduled

_(B) It is interactive

(C) It has a preset agenda

(D} It has multiple participants

Statement 1 : E-books can be

hacked.

Statement 2 : E-books can allow
the enlargement or reduction of font

size. -

(A) Both. 1 and 2 are false
(B) 1 is false but 2 is true
(C) Both 1 and 2 are true
(D) 1 is true but 2 is false

ceeereeneee 18 @ means of imposing
a degree of structure and order on

numerical research data.
(A) Measurement scale
(B) Sampling frame

(C) Frequency distribution

(D) Parameters
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AR S ey Qg ySETETE
4wy ?

(A) d AAPad &
(B) d ¥id:-Ugu &

() aell sy oGl 2Asuddl
)

M) dMl A% 53dl qaatd wseyedai
&

Qe 1 : S-opsu 35 48 ud B.

Qe 2 : S—opsui AL 587 Hial

vyl il 53 asy 9,
(A) 1 31 2 6 w2l 8
B) 1w ® uid 2 Wy &
(C) 1 2 2 oA A1 B
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glat AwuAnl xissisly

el HARAd v HIGWINg SN
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(A) WU e
(B) il HlOY
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(D) M¥ES
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21. Match the following and select the  21.

correct answer from the codes given

below :

(i) LISA

(i) LISTA

(ifi) Social Science Citation Index

(iv) Library Literature and

Information Science
{(a) Thomson Reuters
() H.W. Wilson & Co.
© Proquest
(d) Ebscohost
Codes :

O @ G G)
A @ @ (@ ©®)
By@ d @ O
© b @ @ @
D) @) (@) (dj ©

Lib. Inf. Sci.—III ' 12
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22. Match the following and choose the 22, «{lA~y Rseyin ASL 17 2004 sisHidl

correct answer from the codes WAL Bz w2e 52 :

given : . ' -
@ Ivod wdui

(i) Conventional document . N
() -4 INRAAd uQml

(i) Neo-conventional document
(i) MUIUAANL HAvL
(zti) Non-conventional document
(iv) N2l udvwil
(iv) Meta document
@ udsisiin
(@) Microforms '

| ) og,ﬁta Ay
(b) Google maps

‘(c) WA
(¢} Specifications

(d) uBts
(d) Periodicals

8s ;
Codes

@ G G @) ® @@ w

QA @ ©® © @ A) @ b)) @© @
® ¢ @ (;) © | (B) ®) :(d) @ ©
© @ © @ ® 'I © @ © @ o
D © @ & @ D © @ & @@
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23.

24.

The use of the term ‘minor authors’
in the literature class of the earlier
editions of Dewey Decimal

Classification is an example of the

violation of :

(A) Canon of context

(B) Canon of reticence

(C} Canon of enumeration
(D) Canon of currency

Which of the following is an

example of intra-array relation ?

(A) Impact of climate on economic

growth

(B) Mathematics for Biologists

(C) Relation between Algebra and

Geometry

(D) Relation between the First and

the Second House of the Indian

parliament

Lib. Inf. Sc1.~-I1I
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25.

26.

27.

Which of the
mismatched in the context of Public
Library Act ?

following is

(A) West Bengal — 1979
(B) Haryana — 1989
(C) Rajasthan ~ 2002
(D) Uttaranchal — 2005

Statement (1) : Search engines are

retrieval tools.

Statement (2) : All search engines

may not have their own lexicon.
(A) Both (1) and (2) are false
(B) Both (1) and (2) are true
(C) (1) is true but (2) is false
(D) (1) is false but (2) is true

Which of the

mismatched ?

following is

(A) Scientific Manage-

ment School — F.W. Taylor
(B) C(lassial School — Chester

I. Bernard
(C) Managemnt by |
Objectives =~ — Peter Drucker

(D) Human Relatibns — Elton Mayo

School

Lib. Inf. Sc1.—III
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M v daldy wuBHuHAL Aee{ny
Al g [Qod 87

(A) WPy ody  — 1979
(B) s¥luLu — 1989
(C) w2 — 2002
(D) Guiad — 2005

[Raid (1) : ud At Yt Ml i
2 B,

[Qaint (2) @ st ¥ Al Ulateu
YOESIY ~t UYL LAl €lY.
(A) oA (1) 21 (2) w2l 8
(B) ¢iA (1) 24 (2) WA &
(€) (1) AY & uig (2) Wé B
(D) (1) “Wig & uig (2) W &
AAuni g [QRidd 87

(A) dAsuls dAEA— 3§50y,

[Qatrut 24
(B) xR — AR wud.
[Qarairl oAlS
(C) Geuadl — {21 g2
A,

(D) wima delwl  — Jedi AUl
UL
[Qatrgirl
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28.

29.

30.

(B)

Which of the following is a
synchronous communication tool

that can be used in e-learning ?
(A) Instaﬁt messaging

(B) E-mails

(C) Newsgroups

(D) Fax

The concept of emptying digit
facilitates :

(A) Telescoping in array
(B) Hospitality in array
(C) Interpolation in chain
(D) Extrapolation in chain

Which of the following is true about

the cohcept of information policy ?

A) It

multilingual countries

is possible only in

It is possible only in English
speaking countries

(C)

It involves identification of

appropriate agencies to

implement the policy
(D) It involves identification of
books to

implement the policy

appropriate

Lib. Inf, Sci.—III

28.

29.

30.

16

{A)

AAnil sy S-alor w2 Guaiai
Al 2nag unsias ((nsiaz)
Ui 2a 97

(A) Sru2re AAWI
(B) $-A5d

(C) Y1y

M) 354

vl sadl visdl [Qena-t
ylaal > 8.

(A) UBdui 2laasidis

(B) Wi adsllaal

(C) gral idudy

(D) o sfsday

Rdt filadl Reud-r 6id lAnidl
g4 Wy 87

B ML sigeudl AnIML o usy
L)

(B) 2l WA ¥ el il o
Uy, iU B

(€ 2l Q@ st e dioy

- Ryl Biav sauq wla B

(D) i lfQ @ty s w2 dioy

Weisiql viiav sad Add B



31.

32.

Who has defined information
retrieval as f‘Any device which aids
access té documents specified by
subject and operation associated

with it” :

(A) Allen Kent
(B) B.C. Vickery
(C) Calvin Mooers
(D) Derek Austin

Who wrote ‘Organisation of
knowledge in libraries and the

subject approach to books’ ?
(A) H.E. Bliss

(B) D.J. Foskett

(C) W.C.B. Sayers

(D) S.R. Ranganathan
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(A) dldn 32
B) ofl.dl. {as3l
(C) Becﬂﬂ' yf
(D) 535 e

‘Organisation of knowledge in
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33. Match the following and select the

correct answer from the codes given
below :

(1) Index Translationum
{it) Science Citation Index
(iti) Library Literature
(iv) Index Medicus
(@) H.W. Wilson
(b UNESCO
{¢) National Library of Medicine
(d) 1ISI
Codes :
@ @ @) (v
(A) (& (@ (b) {d)
® 6 @ @ ©
€ @ © @ (b)
D) @ b)) (© (a)
34. Which are true about job analysis ?

(¢} It provides a clear demarcation
of duties and responsibilities

(t1) It determines the abilities,
skills, knowledge and
experience required for the job

(iir) It follows job description
() It leads to job description
(A) () and (i)
(B} (ii) and (iv)
(C) () and (i)
(D} () and Gv)
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33.

34.

A [Aseylq st A (13 culdat
sisHidl AL B wde s

@

o8 2rdaliuy

() WA WU 988

(iit)
(iv)
(a)
(b)
(c)
(d)

51S :

(A)
(B)
(C)
(D)
514
(@)

(&)

(iit)
(iv)
(A)
(B)
(C)
(D)

adalIl (@232

Srsa Asls

NY.se1ey. [Aen
YAl

Aand Al »is Asldlia
WS WA 2

@ @) @) Gv)
)y (@ ) (d)
b)) @ (o) (©
@) () (@) (b)
dy &) (© (a)
[asque Q9 g e 87

d 5% A Faoellul Wl
e oledvl Y3 W 9

d sl e o33 s, S,
i 2 et R 53 8

d sl Qe »qul 8

d std [Razen elasl 2l @
() 2 ()

(i) 1 (iv)

(i) 2 (3iD)

@) A (iv)



- 35. Identify the example of Associative

36.

37.

relationship :

(A) Sodium chloride — Salt

(B) Digestive system — small
intestine

(C) Birds —  Pollination

(D) Birds — Pigeon

In an empirical study of the effects
of open access on borrowing pattern

‘open access’ is :

(A) An independent variable
(B) A dependent variable
(C) Not a variable at all
(D) An extraneous variable
Neural network is :

(A) A network of neurons |
(B) Network on the internet
(C) Data mining tool

(D) Database management system

Lib. Inf. Sci.—III
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35. AW Aolu-l GeleeA Uy

36.

37.

A) AR sdss  — e
(B) w-l3u — wlld, ARG
(C) el — RO
(D) el — 4R

2Y-A-fl e GYR Y5 1A UgR-L
UL 2L gAY AU
‘U MAW Yald W suL UsIRAL AG
97 '

(A) wWdat A4 9

(B) uRda A4 8

(©) 5 44 & % Al

@) ot A B

434 A2af ed :

(A) YU W Aeas

(B) red2 UR Budsy -eaf
(©) Sat slHa 24

(D) Sal 6y Ay Rrex

[P.T.O.]



38.

39.

Lib. Inf. Sci.—III

Statement 1 : 1st edition of Colon
Classification was the first scheme
which could be called as a

completely analytico-synthetic

classification scheme.

Statement 2 : But 7th edition of
Colon Classification is not an
analytico-synthetic classification

scheme,

(A) Both 1 and 2 are true
(B) 1 is true but 2 is false
(C} Both 1 and 2 are false
(D) 1 is false but 2 is true

The PMEST formula for sequence

of fundamental categories is :

(A) In the increasing order of their

concreteness

(B) In the decreasing order of their

concreteness

(C) In the order of succession of

characteristics

(D) On the basis of differentiation

. 20.

38.

39.

Qe 1 @ sl salulBsadl nax
wiefr el Ham ugld odl % yola:
yass ey —qdiovd asllsa weld sél

USY.

Qai 2 : uig slad salRu3san-l
o ¥l gl yasseltu—qdivd

adflse uald =,

(A) 1 31 2 6 A 9

(B) 1 0Y & uig 2 wig &

(C) 1 w2 6id wial §

D) 1 v & uid 2 WY B
yaoyd Asllelidl s34 412 PMEST
sixfal

(A) audl wdl ydall s34 9.

(B) uedl wdl Hddldl s4 .

(C) sRsclvliidl $1H 9.

(D) Slesdirl >l .



40. This group of users make ample use

of informal communication

channels, both written and oral,
such as the invisible colleges,

conferences, correspondence‘ etc,
(A) Engineers and physicians
(B) Managers and policy-makers
(C) Scientists and researchers
(D) Students and intermediaries

41, i, power is based on a
subordinate’s internalized belief that
the supervisor has the right to direct

that person’s activities.
(A) Reward |

(B) Referent

(C) Expert

(D) Legitimate
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40. GuyRLsalyidg 20 gy HRIl Alud
A MBS ol vl s A4l
MY Gualdl 52 8, Fdl 3 2gau
wstlBenaul, wamel, uAqetr

SEER

(A) SR wA doflsil

(B) Awast w4 Alla Fuls
(€) dslist wA Heliasi

D) Qendlail 47 el

41. ...l At AL 24 Hid s

qirddl Gur wallRd ¢ 3 Gyl
§EAA d caldddl ugqlaid

eldell suvaldt s 8.
(A) andz (otedl)

(B) Rely

(C) d%s

(D) sWUEAR
[P.T.O.]



42.

43.

44.

Lib. Inf. Sci.~III

()

Zipf’s law can be used in :

(A) Acquisition of books

(B) Identification of core journals
Identification of core authors

(D) Identification of occurrence of

target words in a corpus

The microchip was invented by : 43.

(A) IBM
(B) INTEL
(C) Hewlett Packard

(D) Macintosh

Identify the law that justifies digit™ 44

2 for mother country in
geographical isolates in the 6th
colon

revised edition of

Classification :

(A) Law of Symmetry
(B) Law of Parsimony
(C)} Law of Osmosis

(D) Law of Interpretation

22

42.

A5l SIUEL ......... 32 Byull oA

9.

(A) A Wlid
(B) Hecdell ARSI viiam
(€) Ml Ausi-l viiviv

e Aneinidl alua ueel
Yeellaly Guaidril daidl d-l
AW,

D)

T Y E RTA T 'a[‘tﬂaf;‘ I :
(A) S ofl Ay

(B) $-2d

(C) 842 S

O AAl-2iau

s salRBiaq Qald sugk-
§) i WA YASIHL WBYU HIZ GUUIBHL
Aaldl 52 sul stueln w1l 2
-@' d %ﬁtﬂ\'ft :

(A) MLl SIMEl

(B) 535437 5148

(C) ™MAIARAL s1uEl

(D) Y2l s1861



45.

46.

Arrange the following universities

for starting a formal library science

education programme in .the

ascending chronological order :

@

Banaras Hindu University

(it) University of Madras

(@) University of Delhi

(iv) Bombay University
(A) G, (@), Gv), Gii)
B) ), (i), Gid), (iv)
(©) Gd), @), @), Gv)

(D) Go), (D), (), ()

. DDC denotes “works for specific

types of users”. It is an example of :
(A) Influence phase relation

(B) Differencé phase relation

(C) Bias phase relatio_x_l

(D) Comparison phase relation
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‘The standard subdivisions 024 in
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45.

46.

Al yRafiZlaia sy Qs
dlas [ﬁl&t@t_at%{ A3 5GUIAL ASALEHAL
atedl :

@ w1 Rg yRaBia

G 4RaRE »is

@) aMaRld 25 Redl

(v) ol yRaRid |

(A) (D), (), Gv), (i)

(B) @), Go), GiL), (iv)

© G, Gid), G), o)

@D @), Gid), Gv), @)

Al A VerRewonul ~024
A falwre wsta- Gualasdla
el glazii-sal” eufd 8, A su
yuzd ieiad Bererat ©7

(A) YA—wad Aviy
(B) dslad—uiad oia
(C) glelbig—ulsd sy

M) AviHRll-wiad sy
[P.T.O.]



47.

48.

-(®)

(A

In a classification of persons, the

groups infants, children,

adolescents, adults are known as :
(A) An array

(B) A facet

(&) | A chain

(D) A characteristic

Identify the correct chronological
order in which the following were
established from the earliest to the

latest :

47.

48

(@} Documentation Research and

Training Centre

Raja Ram Mohan Roy Library

Foundation

(¢) National Library of India

{(d) Delhi Public Library
®), @), @), ()

® @, ®), ©), @
© @, ©, ®), @

(D) (o), (@), (@), (b)
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(A

(D)

24

A vl asllszemt, Agsi—9%d
Rugadl, suasl, Ball, Ma— 5§
Jld sioweHi vid 89

(A) U3¢ (An array)

(B) ¥4 (A facet)

(C) %wdl (A chain)

(D) al@@sdl (A characteristic)
2yl a] Wl sisyAl 3

Alsal :

@ sisyH-2at RaA 2-s 2[HA

Are

(B) ANAILHHISAIA  d1da 21

51G-5a
(0 Au-d C—tlt‘)‘(;lﬂ. g {Sl“_rsz_u_
@ (el wldas cudall
(b), (a), (d), (¢)
(B)‘ {a), (b), {c), (d)
(C) fd), (e), (), (a)

©), (d), (@), (b)



49. In Dewey Decimal Classification

50.

Scheme the provision to classify
general collection of biography is in

the main class :
(A) 000
(BY 300
© 800
(D) 900

Which of the following names is
associated with planning of

university library building. ?
(A) Henry Fayol

(B) Edward Deming

(C) Fredrick Taylor

(D) Henry Faulkner Brown

Lib. Inf. Sei.-III
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49.

50.

sy SAlMa  senfalZsa-ui
@A AU A Q59
W2 ey [Quyui o & -

(A) 000

(B) '300

© 800

(D) 900

[ﬂﬁq[?lalaq Ay eariel I

WA sig - AsAG B7
A) &3l 3uia
(B) »sas sl
(€) 3sis 2dr

D) &4 sis2 oG

[P.T.O.]



51. The Connemara Public Library is

52.

Lib. Inf. Sci.—III

named after :
(A)

(B) The first librarian of this

library

)
in the library

(D) The architect who designed the

building

Match the following and select the
correct answer from the codes given
below :

@

Big data  (a) Orange

(i) Data mining (b) Hadoop

(i) D.OL {(¢) Dublin core
(iv) Metadata (d) LD.F.
Codes :
@B @ @ ()
(A) @) @) (@) (©
(B) (@ () B) (@
) B @ ) (o)
D © W @ ©)

The author of the oldest book

The then Governor of Madras
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51.

52.

(D)

sl WBas alsald Aunse sl

A Yyl sral ey 97

(A) Hald-ll UBYUA

(B) il AAldUAl UYH ALY

(C) Haaunl Alel =il Yaeisel duis

L Ml AL sLR ufd

i [Aseuin 2Ast 1A 20 sisHiY]
AAL B wdle s
(@) 23y

@) B sat

@) SaL wdlHa () sgu

Gii) SL.aLaS. (@) Ssoedld s

(iv) H2l8al d) 9.8l 05,
sis
@B @ G G
(A) ) @ (@ (@
B) @ @« & (@
(C) ) @ (@ (o)
D @ @ @ ©®)



53. Match the following and select the

correct answer from the codes given

below :

(i) INSPEC

(1) BIOSIS

(iii) MEDLINE

(iv) BLAISE

(@) Thomson Reuters

(b) Institute of Engineering and

_Technology
() British Library

{d) U.S. National Library of

Medicine
Codes :

@ @) (#ii) (iv)
A (@ (@ (@& (&)
B) @& (© .(d) (a)
© B @ @ ©

D © @ @ ®
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53. L {Aseuina st x4 vl sisHid)

A™L YAE $3U
() S=As

) ousialla

(i) AsAlS

(iv) 6A5»

(@) M G2

(b) O-=dleye s A-wAuLlor s

25l

©) @i aidal

@ Y.u. Audd asd I (s

A1
518

(@) @) G Gv)
(A) (@ (o (& ()
B) ® © @ (@
€ ® @ @ (o

D © @ @ ®
[P.T.0.]



54. Assertion (A) : FRBR essentially

55.

maps attributes and relationships to

user tasks.

Reason (R) : Because its objective
is not to provide a structured
framework for relating the data that
are recorded in bibliographic records

to the needs of their users.

(A) Both (A) and (R) are false
(B) Both (A) and (R) are true
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Match the following and select the
correct answer from the codes given
below :

(i) Application layer (a) IP

(i} Transport layer (b) FTP

(ii5) Network layer (c¢) Ethernet

(iv) Data link layer (d) TCP

@ G G o)
@ ® @ @ ©
B @ & @ ©
© @ @ © ®
D & @ @ (e
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b4.

b5.

590 (A) : s L ol 2R
Guaidlsaldr sl aldl@sdl w-
Aot wd ARl Ad F3lua 52

.

t9.

$13” (R) : S13® 5 drll €4
Guaiasdl-l o3lRuia Ase{ui
asmayRy sisumi gl San
Aol MbBad way 4 wsal
],

(A) ol (A) i (R) w2t 8
(B) ¢t (A) ¥ (R) AU 8
(©) (A) WY B g (R) Wi¢ &
(D). (A) ¥ B wWg R) Wy &

A1) [Qseuia st w11 200 sisuidl
AL wAUoL YAe 52U ¢

@ elldut AU (o) bl

@) Zrudle AUy (B)Ms. AL

(i) n2af AUl (¢) SurAe

Gv) 82 dls Quy () ALl
® G G G

A @) @ @ (o

B) @ &) & ©

©) @ @ © ®

D & @ @



56. Match the following :

57.

(z) Bodleian Library

. (&) Saraswati Mahal Library

(iti) Bhandarkar Oriental Research
Library

(iv) Khudabaksha Oriental Public
Library

(a) Patna
(b)Y Pune

(¢) Thanjavur

(d) Oxford
Codes :

@ G G G
A @ © @ o
B @ © & @
© @ @ © ®
@ © @ ® @

A skillful method of providing
means, mechanism and structural

elements to streamline

organizational work is known as :
(A) Role analysis

(B) Strategic planning

(C‘) Work culture

(D) Autonomous planning
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56. «lAuA As| :

67.

@) olsdla dadail
@) wadl vsig qdall

i) MiSIRs2  ilalwed NuA
adal

. Gv) viged iRlAed woas aidatl

@ ue-it
®) ya
) diRar
@) wiass
sis ;

@ @) @) v
Ay @ @© @ &)
B) @ @ & (@
C) @ W@ © &)
M © @ & &

aqaRld>(ld St yralRad sa e
Ateetl, dat A sigella daa Yzl
wsaldl stacuyel ugll
a3 aelldl 8.

(A) of[HsL yaussl

(B) A4slcHs U
©) sid Ayl

D) wWdal A%
[P.TOO.]



58.

59.

Statement 1 : Z39.50 is an

international standard protocol for

searching and retrieving

information from remote databases.

Statement 2 : This standard’s

maintenance agency is OCLC.
(A) Both 1 and 2 are false
(B) 1 is false but 2 is true
(C) Both 1 and 2 are true
(D) 1 is true but 2 is false

Match the following and select the
correct answer from the codes given

below :

(i) Internet explorer (a) Mozi‘lla
(if) Android (b) Apple
(iii) 108 (¢) Google

(iv) Firefox (d) Microsoft

Codes :

O G G )
@ o © @ @
B @ © & @
© @ ® © @
D@ & © @
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58.

59.

[Qeun 1 : 239.50 1 iz sa1in-l
wledl wig 2 Yuild sl
Midzndle WAs Hilsia 9,

Qw2 : 20 Hisl 2anagl el
wx=dl OCLC 8.

(A) 1 v 2 oiq w2l 8

(B) 1 W ® uid 2 Wy &

(C) 1 %7 2 ol A B

O 1w B uig 2 v 8
QL Rsewia At ¢ 13 eulda
sisHigl ANl G wie 53U ¢

() ez syl Ua)HUDal

(i) AA-SSS (b) vind
Gi) 2S00, (o) Yo
(iv) US4 (@udsiige
S1S

G G G Go)
A ® © @ @
B) @ (o (5) (@)
© @ B © @
M@ ® € @



60. Match the following and select the

true answer from given codes :
(i) Central Tendency

(i1) Absolute zero point

(zzi) Refinement of judgement
(fv) Categorization

(@) Delphi method

(b) Mean

(c) Ratio scale

(d) Nominal .scale

Codes :

@ @ @) ()
(A) (o) | d ) (@
BB @ @ (@

(C) (b). © () (a)

D) ® @ @ @
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60. «(la-l [@seqid oSl wA 2 lal

Asuiel wall Gur wie 53 :
@) 3l nald
@y s g (g
ity [Fusly ulRvgd 524
(iv) Rowdllsze
(@) 5¢8l :_ua[a
(b) Heus
(©) Aeilvd Y
(d) -Uvd "N |
518

® @ G _(iv)
@ © @ ® @
® B @ @ ©
€ b © (@@ '-(a)

O ® © @ @
[P.T.0.]



61.

62.

In 1963 edition of colon

classification Ranganathan decided
to use distinctive symbols for space

and time facets to satisfy :

(A) Law of Symmetry

(B) Law of Impartiality

(€)

Law of Parsimony

(D} Law of Osmosis

Which of the following are the

secondary sources of information ?

ISO 2709 : Standards for
Bibliographic Records Formats
2008

t)

(i)

Current Contents
(ii} Humanities Abstracts
(iv) Bibliography of Biblibgraphies
Codes -

(A) (@), (i) and (iv)

(B) (ii) and (i)

(C) (D), (i) and (iv)

(D) (@ii) and (iv)
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61.

62.

siant sa{lBiudl 1963 -l 2uqlei

Tolius L2 R A 519

uuuuuuuuuu

yusid ey vl [@lee wlasiddl
Gudlol sawdl Fslu dldl.

(A) Udrdlil SWMEL
(B) deddlll s14el
(C) 5A5UIAL SLUEL
D) AL 51{{&‘1

AAnil su R Bllus wlidl
&7
@) 2SR, 2709 ; w18 51
Blodluinuilzs 58y sianey
2008

5372 sy,

gA-{ldly Aougsey

(ii.)
(iti)
(v) AlsHaYRIA aisiyy
SiS :
(A) (), (i) ¥ (iv)
(B) (i) A (i)
(cj (@), (iii) ¥ Gv)

D) (i) AN Gv)



63. A two factor theory of motivation

64.

that groups needs into one that
dissatisfies and the other as
satisfiers, is :

(A) McGregor’s theory Y
(B) Maslow’s hierarchy of needs
(C) McGregor’s theory X

(D) Herzberg’s motivation-hygiene
approach

Match the following and select the

correct answer from the codes given
below :

(£} Historical Research
(ir) Action Research

(#ii) Experimental Research
(iv) Survey Research

(@) Finding and implementing a
solution to the student’s
problem of getting information
literate

(b) Finding effects of the use of
cloud computing on services of
special library

(¢) A study of library movement in
a geographical area

(d) Study of job satisfaction of
college librarians in India

Codes :

@ @) @) G
A) (© @ G (@)
B) B) (@ (o) (d)
€ @ B @ @
M @ @@ » @
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63.

64.

Al sl RulRus Maid 3
73U Bdins A divs 30 4
quii [Qoumd 3 & ¢

Ay qsRr-l HluA v
(B) wrai-l &4 »iis Mgy
(C) AsAardl ARl X

D) eded(Al Mdud—sidSwn
AU

A1 [Aseyia st v 20de sisuiel
AL Gu ve £

@ Slascis Agia

@) Asun Aalan
(i) MUdLUHE AgY~
(o) udae AiaA

@ a4l wlRdl wa aa-l
yuL-l 63 Aadl aA @) sl

®) [@Rre Awaui-dl A Gur
sei3s sty dlatar Guuia-l
w1YU wadl

(@ S8 olidif@s Radiul atay
YAAOL 2OYA $9L

(@) MLdHl s1dy AavieiAl st
AdivAl qeUA 5l

is

@ G @) G
A) (@ (@) (b) (d)
B ® @ © @
) (@ @) (@ (d)

D @ @ & (@
[P.T.O.]



65. Arrange the following events in

their ascending chronological order :

() International Meeting of
Cataloguing experts in

Copenhagen

(iiy The International Conference
on Cataloguing Principles held
in Paris

(iii) The Anglo-American Catalogu-
ing Rules, second edition

(AACR-2) was published in one

version

(iv) Publication of two versions of
the Anglo-American Catalo-
guing Rules (AACR), a North

American text and a British

text
Codes :
A @, @, G, G
B) @), @), i), Gv)
©) G, Gv), @, D)
@) G, ), @), i)
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65. Al Herlvlirl del S10sM AR

aleal -
@ sturdail wadl yfasen

d%stidl vt dla wlRne

Gy AL 1adl YRS Rgidl

Yl Hidndly u[?mz
i) dlodl-mA s Seala{lor 36,
2 @ 29l (AACR-2) L MHH

UKW, Uslu
(o) Aodl w3 s+ Feaidflol 3en
(AACR) =it i 151 282 w4

[BiélaL 2ge-L & sl ustant

8

A) &), G), Gv), D)
B @, G, Gi), (v)
(©) G), Gv), G, Gi)
D) @), @, ), i)



66. WIPO is not a global forum for :  66. Sl ........ Wed alas Hy -l

(A) Intellectual property services

(B) Providing standards for quality

maintenance

(C) Alternative IP dispute

resolution

(D) Resolve trademark abusive

disputes

'67. Which of the following is not a key g7

feature of DOI ?

(A) Persistence

(B) Network accessibility
(C) Repeatability

(D) Interoperability

68. IS0 26324 : 2012 is a standard for : 8.

(A) RFID
(B) DOI
(C) Dublin core

(D) Inter-library transactions
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(A)

(B)

(C)

(D)

oifgs Aust Al

il ARl Rieell Hirtsl Y2l

tedl

AsRus ofilas Aust [aiel

F1s3

oISl [Helu Haoie-l

(Rtsat

(AN g slatl2us. o udlay

qaey «l?

(A) Alccd

(B)

(C)

(D)

A2a$ wltg
YrUdd-

a2 Awlddal

WIS WA VL, 26324 : 2012 A

(A)
(B)
(©)

...... el MLl 69,

L. WS Y. 8L,
Sl aus.

soefld $i2

(D) id AUEd qAsEaS

[P.T.O.]



69. Assertion (A) : AACR-2 has given 69.

70.

Lib. Inf. Sci.-II1

detailed rules for the preparation of
references.

Reason (R) : Because AACR-2 is
a code meant for a dictionary
catalogue.

(A} Both (A) and (R) are false
(B) (A) is true but (R) is false
(C) Both (A) and (R) are true
(D) (A) is false but (R) is true

Match the following and select the  70.

correct answer from the codes given
below :

) OCLC

(t1) Farmington Plan
(iir) INFLIBNET

(iv) Ohio Libraries Share : More
(@) E-journal consortium

(b) World cat

(¢) Circulating

(d) Acquisitions

Codes :

@ @ @) o)
(A) ) (@) @ @
B) @ & (© (d)
C & © @ (@
D © @ @ )
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59 (A) ;a2 el
TR ERTR CESTR CUCTRCATIC R R

$138 (R) @ sk 3 23 Hlaur.-
2 ¥ auilgsd YA -l YRS 9.
(A) (A) L (R) ol viel 8

(B) (A) Wy & uig (R) wig &
(C) (A) 21 (R) ol Ww 8

D) (A) Wi & uig R) w3 &

A1 [Qseuin As] x1A 21 0e, sisni
AL G WAde 53U ¢

G) AL

(i) $0B02 e

(i) Snsdlode

Gv) iUl addly A @ MR
(@ o—%-1d s=Alklyy

(B) aes 32

(€©) YR 2uden

(d) AsdlAun

8s

O G G G
W e @ @ ©
B @ ® © @
© ® © @ @
D © @ @



71. According to Machlup which of the - I )
71, HAAUAL Hd yarol A au-)

following are characteristics of

aAlt@sanl 55 59§ 87
knowledge :

() A2k 2425, AANR A Assy

(i} It is piecemeal, fragmented,

particular ®
(i) It is structured, coherent and G o YA, Y2 A ABs
universal

(i) A AR, alds, s wadd

(zii) It 1s timely, transitory, perhaps 3

even-ephemeral
(iv) d rid Yeda &

(iv) It is of enduring significance

_ !?lS :
Codes :

(A) @) A (&)
(A) () and (i)

B) (i) and (i) _ (B) (@) 2 (@)
(C) (i) and (iv) (€) Gi) @\ Gv)
@) (i) and Gv) (D) (i) A ()
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72.

73.

Lib. Inf. Sci.-III

Match the following and select the 72

correct answer from the codes given

below :

(z) A.J. Lotka

(1) Kessler

(iii) E. Garfield

(iv) S.R. Ranganathan
(a) Librametry

(b} Scientific Productivity
(¢) Bibliographic Coupling
(d) Citation Analysis

Codes :

@ @ (o) G
(A) &) © (& (a)
(B) () B (@ (@
€y @ ® (@ (d)
D) d @ G (@

British library offers BLAISE as :

(A) Priced online bibliographic

information service

(B) Free online bibliographic

information service

(C) Priced offline bibliographic

information service
(D) Free offline bibliographic

information service
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- 73.

AL [Rseqin RSk w7 2004 sisHidl
AL B uAe s

() W.¥. di2sl

() A4

i) §. UABes

(v) ™., U
@ [Asnd

b) Wudsls Uissdldldl
© BedlaiinBs sudla
d) wuea A-ufadly

£1S :
G @) G Gv)
@A ® © @ (@
B) @ ®» @ (@
© @ & © @
O @ @ @& ©
[Eaélsu el sy ... ... Y3 us
£9.

(A) 3 URd BiAASH Ay
YR 1ldl Aal

B) [ yeuddl idaid aiyuy
yRdId R A«

(C) Y 2aRd AisdIS+ Ay
YA Rl Aal

D) [l 3ey-dl s qremy
JRod ldl Aay



74. Match the following and select the

correct answer from the codes given
below :

(I} Word Press

(i1} MOOC

(itz) Mendeley

(tv) e-Granthalaya 4.0

(@) Reference Management
software

(b) Integrated Library Management
software

- {e)

Open Online Courses

(d) Content Management Software
Codes :
@ @ @G )
(A) (@) &) (o) (d)
B) ) @ (@ (@)
C @ @ &b
M) @ © @@ (b

75. The Dublin core metadata element

“Type’ refers to :

(A) The resource type such as

novel, poem, essay

The data presentation type of
resource such as text/html

(B)

(C) 'The work type such as print or

electronic

(D) The language type such as

English, Hindi

- Lib. Inf. Sci.-II1
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74.

75.

(b}

A Rseqia At 214 210 511
AL G e s

@ as A

@) 48

(iif) A-sdl

Gv) S—Aed 4.0
(@ A A2 Aisedr

S AN2s wdA Adad-e
Ais2AR

©) wiuA irend sy
@ 532 Wiz Wead2
518 :

@ @) G (o)
(A) (@ &) (© (d)
B) b)) @ @ (@
C) @ @ ®b) ©
D) d ©© ®)

soiel 512 A2adaldl ‘edu’ dac suld
9
(A) -ladsul, s, [eia Fal wiid

ded

syl A . ud. Fal Seal
uddl d

(B)

©) 3Rd vua Ragdy sk dc

(D) idow, [E4 Fal Ml ded
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ROUGH WORK
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